			OOR	Conve	rgeOn	ie, Inc.	N	VM Co	orp.	A	MS.NE	T		ePlus	
-	MARY	LOCAT	TION	West Sa	acrame	ento, CA	Rancho	o Corde	ova, CA	Live	ermore	, CA	Ros	seville,	CA
R	Q #	Date Called	Quote #	01/29/17	1	OP-000328102	02/05/18	/	NWNQ23588	02/05/18	/	Q-00023929	02/05/18	/	22180194
REQUEST	TOR/DEPT.	Date Quoted	Quote Firm # days	02/01/18	/	NASPO	02/07/18	/	30	02/07/18	/	90	02/07/18	/	30
Info Tec	hnologies	CONT	ACT	Rob	erto L	eon	Ab	bie Arr	nold	Jar	ed Bay	less	То	m Hag	jen
	NE EXT. 411	PHONE	/ FAX	408-483-1854	/		916-637-2200	/	6	925-245-6186	/			/	
QTY	U/M	DESCRI	PTION		E	EXTENSION		CE	EXTENSION		CE	EXTENSION		E	EXTENSION
1		Cisco Core S Hardware	Switch	\$117,261.0	00	\$ <mark>117,261.00</mark>	\$164,520.	00	\$164,520.00	\$132,183.	10	\$132,183.10	\$138,851.4	12	\$138,851.42
						\$0.00			\$0.00			\$0.00			\$0.00
1		Cisco Warranty/ma support - 1 ye		\$8,779.20	)	<mark>\$8,779.20</mark>	\$3,364.8	0	\$3,364.80	\$5,812.3	0	\$5,812.30	\$5,661.57	7	<b>\$</b> 5,661.57
						\$0.00			\$0.00			\$0.00			\$0.00
	-			DELIVERY / A	ARO		DELIVERY /	ARO		DELIVERY /	ARO		DELIVERY / A	ARO	
REQUIRE	EMENTS/NC	TES/WHY INFO	)	SUBTOTAL		\$126,040.20	SUBTOTA	L	\$167,884.80	SUBTOTA	L	\$137,995.40	SUBTOTAL		\$144,512.99
				DISC. %		\$0.00	DISC. %		\$0.00	DISC. %		\$0.00	DISC. %		\$0.00
				L.V.P. 5%		\$0.00	L.V.P. 5%		\$0.00	L.V.P. 5%		\$0.00	L.V.P. 5%		\$0.00
				FREIGHT		\$0.00	FREIGHT		\$0.00	FREIGHT		\$60.00	FREIGHT		\$0.00
				TAX %	8.00%	\$9,380.88	TAX %	8.00%	\$13,161.60	TAX %	8.00%	\$10,574.65	TAX %	8.00%	\$11,108.1 <sup>°</sup>
				TOTAL		\$135,421.08	TOTAL	-	\$181,046.40	TOTAL		\$148,630.05	TOTAL		\$155,621.10

Date: 2/1/2018

Page #: 1 of 1 Document #: OP-000328102 SO-000351447

# Solution Summary NxOS Single

Customer: El Dorado County Primary Contact: Todd Truka Email: todd.truka@edcgov.us Phone: 530-621-5699 National Account Manager: Roberto Leon NAM Email: RLeon@convergeone.com NAM Phone: +14084831854 Cisco NASPO

#### Master Agreement #AR233 14-19 California Participating Addendum #7-14-70-0

Item Number	Manufacturer	Description	Qty Unit Price	Exte	ended Price
1 C1-N9K-C9332PQ	CIŚCO	C1-N9K-C9332PQ - Cisco ONE Nexus 9332 ACI Leaf switch with 32p 40G QSFP	2	\$15,120.00	\$30,240.00
2 CON-SNT-NC9332PQ	CISCO	CON-SNT-NC9332PQ - SNTC-8X5XNBD C1 Nexus 9332 ACI Leaf Swchw32p 40G QSFP 12 Months	2	\$1,052.80	\$2,105.60
3 NXOS-703I7.2	CISCO	NXOS-70317.2 - Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)I7(2)	2	\$0.00	\$0.00
4 N3K-C3064-ACC-KIT	CISCO	Nexus 3K/9K Fixed Accessory Kit	2	\$0.00	\$0.00
5 N9K-PAC-650W	CISCO	Nexus 9300 650W AC PS, Port-side Intake	4	\$0.00	\$0.00
6 NXA-FAN-30CFM-B	CISCO	Nexus 2K/3K/9K Single Fan, port side intake airflow	8	\$0.00	\$0.00
7 CAB-9K12A-NA	CISCO	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	4	\$0.00	\$0.0
8 C1F4PNEX9300K9	CISCO	C1F4PNEX9300K9 - Cisco ONE Foundation Perpetual Nexus 9332	2	\$10,368.00	\$20,736.0
9 CON-ECMU-C1F4PNEX	CISCO	CON-ECMU-C1F4PNEX - SWSS UPGRADES Cisco ONE Foundation Perpetual Nexus 933 12 Months	2	\$1,654.40	\$3,308.8
0 N93-LAN1K9	CISCO	LAN Enterprise License for Nexus 9300 Platform	2	\$0.00	\$0.0
3 C1-ACI-N9K-32Q	CISCO	C1-ACI-N9K-32Q - Cisco ONE ACI SW license 32 leaf ports 40G Nexus 9K switch	2	\$0.00	\$0.0
4 C1-NDB-SWT-K9	CISCO	Cisco ONE Tap/SPAN Agg lic for 1 Cisco Nexus Switch	2	\$0.00	\$0.0
5 C1-DCL-N93-K9	CISCO	Cisco ONE DCNM for LAN Advanced Edt. for Nexus 9300 switches	2	\$0.00	\$0.0
5 C1-PI-LFAS-N9K-K9	CISCO	Cisco ONE PI Device License for LF & AS for Nexus 9K	2	\$0.00	\$0.0
7 C1-N9K-NFM1K9	CISCO	Cisco ONE Nexus Fabric Manager License for N9K Switch	2	\$0.00	\$0.0
8 C1F4VNEX9300-04	CISCO	C1F4VNEX9300-04 - Tracker PID v04 Fnd Perpetual NEX9300 - no delivery	2	\$0.00	\$0.0

1				Date: 2/1/2018 Page #: 1 of 1 ment #: OP-000328102 SO-000351447		
19 N9K-C9396TX	CISCO	Nexus 9300 48p 1/10GBASE-T & additional uplink module req.	2	\$12,730.50	\$25,461.00	
20 CON-SNT-9396TX	CISCO	SNTC-8X5XNBD,Nexus 9300 with 48p 1/10GBASE-T and 1 uplin 12 Months	2	\$921.60	\$1,843.20	
21 N9K-C9300-ACK	CISCO	Nexus 9K Fixed Accessory Kit	2	\$0.00	\$0.00	
22 N9K-C9300-RMK	CISCO	Nexus 9K Fixed Rack Mount Kit	2	\$0.00	\$0.00	
23 N9K-M6PQ-E	CISCO	ACI capable Uplink Module for Nexus 9300, 6p 40G QSFP	2	\$1,242.00	\$2,484.00	
24 CAB-9K12A-NA	CISCO	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	4	\$0.00	\$0.00	
25 N9K-PAC-650W	CISCO	Nexus 9300 650W AC PS, Port-side Intake	4	\$0.00	\$0.00	
26 N9K-C9300-FAN2	CISCO	Nexus 9K Fan 2, Port-side Intake	6	\$0.00	\$0.00	
27 QSFP-H40G-ACU10M	CISCO	40GBASE-CR4 Active Copper Cable, 10m	4	\$675.00	\$2,700.00	
28 N93-LIC-PAK	CISCO	N9300 License PAK Expansion	2	\$0.00	\$0.00	
29 N93-LAN1K9	CISCO	LAN Enterprise License for Nexus 9300 Platform	2	\$4,320.00	\$8,640.00	
30 NXOS-70317.1	CISCO	Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)17(1)	2	\$0.00	\$0.00	
31 QSFP-H40G-ACU10M=	CISCO	40GBASE-CR4 Active Copper Cable, 10m	6	\$675.00	\$4,050.00	
32 SFP-H10GB-CU3M=	CISCO	10GBASE-CU SFP+ Cable 3 Meter	10	\$54.00	\$540.00	
33 N9K-C9372PX-E	CISCO	Nexus 9300 with 48p 10G SFP+ and 6p 40G QSFP+	1	\$15,120.00	\$15,120.00	
34 CON-SNTP-9372PXE	CISCO	CON-SNTP-9372PXE - SNTC-24X7X4 Nexus 9300 with 48p 12 Months	1	\$1,521.60	\$1,521.60	
35 N3K-C3064-ACC-KIT	CISCO	Nexus 3K/9K Fixed Accessory Kit	1	\$0.00	\$0.00	
36 N9K-PAC-650W	CISCO	Nexus 9300 650W AC PS, Port-side Intake	2	\$0.00	\$0.00	
37 NXA-FAN-30CFM-B	CISCO	Nexus 2K/3K/9K Single Fan, port side intake airflow	4	\$0.00	\$0.00	
38 QSFP-H40G-ACU10M	CISCO	40GBASE-CR4 Active Copper Cable, 10m	2	\$675.00	\$1,350.00	

1			Page #	e: 2/1/2018 #: 1 of 1 #: OP-000328102		
39 CAB-9K12A-NA	CISCO	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	2	SO-000351447 \$0.00	\$0.00	
40 GLC-SX-MMD	CISCO	1000BASE-SX SFP transceiver module, MMF, 850nm, DOM	6	\$270.00	\$1,620.00	
41 NXOS-70317.2	CISCO	NXOS-70317.2 - Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)I7(2)	1	\$0.00	\$0.00	
42 N93-LIC-PAK	CISCO	N9300 License PAK Expansion	1	\$0.00	\$0.00	
43 N93-LAN1K9	CISCO	LAN Enterprise License for Nexus 9300 Platform	1	\$4,320.00	\$4,320.00	
				Sub Total: Tax: Shipping:	\$126,040.20 \$10,246.28 \$0.00	
				Recycle Fee:	\$0.00	
				Total:	\$136,286.48	



Quote To: El Dorado County - 9K Switching

#### NWN Corporation 2969 Prospect Park Drive Ste.225 Rancho Cordova r, CA 95670 Phone 916.637.2200

#### PLEASE FORWARD YOUR PO TO: Education@NWNIT.com

# Quotation

Quote #	NWNQ23588
Date	02/07/18
Good Thru	3/9/2018
Prepared By	Abbie Arnold
Sales Rep	Abbie Arnold

ty	Mfg. Part #	Description	nit Price	Ext. Price
2	C1-N9K-C9332PQ	Cisco ONE Nexus 9332 ACI Leaf switch with 32p 40G QSFP	\$18,200.00	\$36,400.00
2	CON-SNT-NC9332PQ	SNTC-8X5XNBD C1 Nexus 9332 ACI Leaf Swchw32p 40G	\$0.00	\$0.00
2	NXOS-70317.2	QSFP Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3)I7(2)	\$0.00	\$0.00
2	N3K-C3064-ACC-KIT	Nexus 3K/9K Fixed Accessory Kit	\$0.00	\$0.00
4	N9K-PAC-650W	Nexus 9300 650W AC PS, Port-side Intake	\$0.00	\$0.00
B	NXA-FAN-30CFM-B	Nexus 2K/3K/9K Single Fan, port side intake airflow	\$0.00	\$0.00
4	CAB-9K12A-NA	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	\$0.00	\$0.00
2	C1F4PNEX9300K9	Cisco ONE Foundation Perpetual Nexus 9332	\$15,360.00	\$30,720.00
2	CON-ECMU-C1F4PNEX	SWSS UPGRADES Cisco ONE Foundation Perpetual Nexus	\$0.00	\$0.00
2	N93-LAN1K9	933 LAN Enterprise License for Nexus 9300 Platform	\$0.00	\$0.00
2	N93-SERVICES1K9	Nexus 9300 Network Services (ITD, IP Media Fabric)	\$0.00	\$0.00
2	C1-N93-SERVICES1K9	Cisco ONE Nexus 9300 Network Services (includes ITD)	\$0.00	\$0.0
2	C1-ACI-N9K-32Q	Cisco ONE ACI SW license 32 leaf ports 40G Nexus 9K	\$0.00	\$0.00
2	C1-NDB-SWT-K9	switch Cisco ONE Tap/SPAN Agg lic for 1 Cisco Nexus Switch	\$0.00	\$0.00
2	C1-DCL-N93-K9	Cisco ONE DCNM for LAN Advanced Edt. for Nexus 9300	\$0.00	\$0.00
2	C1-PI-LFAS-N9K-K9	switches Cisco ONE PI Device License for LF & AS for Nexus 9K	\$0.00	\$0.00
2	C1-N9K-NFM1K9	Cisco ONE Nexus Fabric Manager License for N9K Switch	\$0.00	\$0.00
2	C1F4VNEX9300-04	Tracker PID v04 Fnd Perpetual NEX9300 - no delivery	\$0.00	\$0.00
2	N9K-C9396TX	Nexus 9300 48p 1/10GBASE-T & additional uplink module req.	\$18,860.00	\$37,720.00
2	CON-SNT-9396TX	SNTC-8X5XNBD, Nexus 9300 with 48p 1/10GBASE-T and 1	\$921.60	\$1,843.20
2	N9K-C9300-ACK	uplin Nexus 9K Fixed Accessory Kit	\$0.00	\$0.00
2	N9K-C9300-RMK	Nexus 9K Fixed Rack Mount Kit	\$0.00	\$0.0
2	N9K-M6PQ-E	ACI capable Uplink Module for Nexus 9300, 6p 40G QSFP	\$1,840.00	\$3,680.00
4	CAB-9K12A-NA	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America	\$0.00	\$0.00
4	N9K-PAC-650W	Nexus 9300 650W AC PS, Port-side Intake	\$0.00	\$0.00
6	N9K-C9300-FAN2	Nexus 9K Fan 2, Port-side Intake	\$0.00	\$0.00

Page 1

### 18-0470 A 5 of 14

		Ext. Price
4 QSFP-H40G-ACU10M 40GBASE-CR4 Active Copper Cable, 10m	\$1,000.00	\$4,000.00
2 N93-LIC-PAK N9300 License PAK Expansion	\$0.00	\$0.00
2 N93-LAN1K9 LAN Enterprise License for Nexus 9300 Platform	\$6,400.00	\$12,800.00
2 NXOS-703I7.1 Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3	3)17(1) \$0.00	\$0.00
6 QSFP-H40G-ACU10M= 40GBASE-CR4 Active Copper Cable, 10m	\$1,000.00	\$6,000.00
0 SFP-H10GB-CU3M= 10GBASE-CU SFP+ Cable 3 Meter	\$0.00	\$0.00
1 N9K-C9372PX-E Nexus 9300 with 48p 10G SFP+ and 6p 40G QSFP+	\$22,400.00	\$22,400.00
1 CON-SNTP-9372PXE SNTC-24X7X4 Nexus 9300 with 48p	\$1,521.60	\$1,521.60
1 N3K-C3064-ACC-KIT Nexus 3K/9K Fixed Accessory Kit	\$0.00	\$0.00
2 N9K-PAC-650W Nexus 9300 650W AC PS, Port-side Intake	\$0.00	\$0.00
4 NXA-FAN-30CFM-B Nexus 2K/3K/9K Single Fan, port side intake airflow	\$0.00	\$0.00
2 QSFP-H40G-ACU10M 40GBASE-CR4 Active Copper Cable, 10m	\$1,000.00	\$2,000.00
2 CAB-9K12A-NA Power Cord, 125VAC 13A NEMA 5-15 Plug, North Ameri	ica \$0.00	\$0.00
6 GLC-SX-MMD 1000BASE-SX SFP transceiver module, MMF, 850nm, D	OM \$400.00	\$2,400.00
1 NXOS-703I7.2 Nexus 9500, 9300, 3000 Base NX-OS Software Rel 7.0(3	3)17(2) \$0.00	\$0.00
1 N93-LIC-PAK N9300 License PAK Expansion	\$0.00	\$0.00
1 N93-LAN1K9 LAN Enterprise License for Nexus 9300 Platform	\$6,400.00	\$6,400.00
	SubTotal	\$167,884.80
Sa	les Tax 0.0825	\$13,850.50
	Shipping	\$0.00
	Total	\$181,735.30

Your NWN Sales Team: Glenda Bawden - Account Executive - gbawden@nwnit.com - 916.996.6161 Abbie Arnold - Inside Sales - aarnold@nwnit.com - 916.637.2151

"This proposal is subject to reconfirmation of configuration and pricing by the manufacturer at the time of order".

Ask About Lowering Your Cost of Ownership With:						
* Microsoft Se	elect * Custom Software *Imaging * Rollout Services * Leasing * On-site Installation * Help Desk Services					



#### Customer

, <sup>--</sup>

County of El Dorado 2850 Fairlane Ct Placerville CA, 95667-4100 US ATTN: David Dannenbrink

#### Ship To

County of El Dorado 360 Fair Ln Placerville, CA 95667-4103 ATTN: David Dannenbrink

#### **Quote Description**

MAIN-Nexus Switches-

#### AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

## **Customer Price Quote**

Quote #	#Q-00023929
Project #	76160
Modified	2/7/2018
Account Mgr.	Jared Bayless
AM Phone	(925) 245-6186
AM Email	jbayless@ams.net
Inside Account Mgr.	Teri Edwards
IAM Phone	(925) 245-6149
IAM Email	tedwards@ams.net
Quote Exp.	5/7/2018

Line	Item Description	Manufacturer	Qty	Unit Price	Extended Price
Ciso	co ONE Nexus 9332 32P Switch				
1	C1-N9K-C9332PQ Cisco ONE Nexus 9332 ACI Leaf switch with 32p 40G QSFP Included:	Cisco Systems Inc.	2.00	\$18,200.00	\$36,400.00
	NXOS-70317.2				
	N3K-C3064-ACC-KIT				
	N9K-PAC-650W				
	NXA-FAN-30CFM-B				
	AB-9K12A-NA				
	N93-LAN1K9				
	N93-SERVICES1K9				
	C1-N93-SERVICES1K9				
	C1-ACI-N9K-32Q				
	C1-NDB-SWT-K9				
	C1-DCL-N93-K9				
	C1F4VNEX9300-04				
	C1-PI-LFAS-N9K-K9				
	C1-N9K-NFM1K9				
2	CON-SNT-NC9332PQ SMARTNET 8X5XNBD C1 Nexus 9332 ACI Leaf Swchw32p 40G QSFP	Cisco Systems Inc.	2.00	\$1,118.60	<mark>\$2,237.20</mark>



#### AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

3	C1F4PNEX9300K9 Cisco ONE Foundation Perpetual Nexus 9332	Cisco Systems Inc.	1.00	\$12,480.00	\$12,480.00
4	CON-ECMU-C1F4PNEX SWSS UPGRADES Cisco ONE Foundation Perpetual Nexus 933	Cisco Systems Inc.	2.00	\$1,757.80	\$3,515.60

5	N9K-C9396TX Nexus 9300 with 48p 1/10GBASE-T and 1 uplink module slot inlcuded: N9K-C9300-ACK	Cisco Systems Inc.	2.00	\$15,323.75	\$30,647.50
	N9K-C9300-RMK CAB-9K12A-NA N9K-PAC-650W N9K-C9300-FAN2 N93-LIC-PAK NXOS-70317.1				
6	CON-SNT-9396TX SMARTnet 8x5xNBD,Nexus 9300 with 48p 1/10GBASE-T and 1 uplin	Cisco Systems Inc.	2.00	\$979.20	<u>\$1,958.40</u>
7	N9K-M6PQ-E ACI capable Uplink Module for Nexus 9300, 6p 40G QSFP	Cisco Systems Inc.	2.00	\$1,495.00	\$2,990.00
в	QSFP-H40G-ACU10M 40GBASE-CR4 Active Copper Cable, 10m	Cisco Systems Inc.	4.00	\$812.50	\$3,250.00
9	N93-LAN1K9 LAN Enterprise License for Nexus 9300 Platform	Cisco Systems Inc.	2.00	\$5,200.00	<mark>\$10,400.00</mark>

Cis	co TwinX Cables and SFP's				
10	QSFP-H40G-ACU10M= 40GBASE-CR4 Active Copper Cable, 10m	Cisco Systems Inc.	6.00	\$812.50	\$4,875.00
11	SFP-H10GB-CU3M= 10GBASE-CU SFP+ Cable 3 Meter	Cisco Systems Inc.	10.00	\$65.00	\$650.00

12	N9K-C9372PX-E Nexus 9300 with 48p 10G SFP+ and 6p 40G QSFP+ Included:	Cisco Systems Inc.	1.00	\$18,200.00	\$18,200.00
	N9K-PAC-650W				
	NXA-FAN-30CFM-B				
	CAB-9K12A-NA				
	NXOS-70317.2				
	N93-LIC-PAK				



يالى

AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

13	CON-SNTP-9372PXE SNTC-24X7X4 Nexus 9300 with 48p	Cisco Systems Inc.	1.00	\$1,616.70	\$1,616.70
14	QSFP-H40G-ACU10M 40GBASE-CR4 Active Copper Cable, 10m	Cisco Systems Inc.	2.00	\$812.50	<mark>\$1,625.0</mark> 0
15	GLC-SX-MMD 1000BASE-SX SFP transceiver module, MMF, 850nm, DOM	Cisco Systems Inc.	6.00	\$325.00	\$1,950.00
16	N93-LAN1K9 LAN Enterprise License for Nexus 9300 Platform	Cisco Systems Inc.	1.00	\$5,200.00	\$5,200.00

AM	S FREIGHT				
17	AMS-FREIGHT-DROPSHIP Freight	None	1.00	\$60.00	\$60.00

### Order Summary

Subtotal	\$138,055.40
Adjustment	\$0.00
Estimated Taxes	\$8,298.50
Total	\$146,353.90



#### Terms and Conditions

1. AMS.NET will require a Purchase Order referencing this Quote # or if a Purchase order is not provided, an authorized representative must sign this quote.

2. Payment terms are Net 30. An interest charge of 1.5% per month will be applied to all accounts past due, plus all costs of collection and reasonable attorneys fees. AMS.NET accepts all major credit cards. A convenience fee of 3.5% will be assessed. Customer agrees to accept multiple invoices for projects that cover multiple sales. In the event that a site's readiness is delayed by the customer, customer agrees to accept and pay invoices that reflect equipment and services already received.

3. Items sold by AMS.NET, Inc. and shipped to destinations in California are subject to sales tax. If an item is subject to sales tax in the state to which the order is shipped, tax is generally calculated on the total selling price of each individual item. In accordance with state tax laws, the total selling price of an order will generally include shipping and handling charges and itemlevel discounts. The amount of tax charged on your order will depend upon many factors including, but not limited to, the type of item(s) purchased, and the source and destination of the shipment. Factors can change between the time you place an order and the time an invoice is sent, which could affect the calculation of sales taxes. The amount appearing on your proposal as 'Estimated Sales Tax' may differ from the sales taxes ultimately charged. Shipping charges and sales tax will be added to this order when invoiced and the customer agrees to pay these charges.

4. All companies with tax exemption must present a valid Tax Exempt form. If Customer is tax exempt or if tax exempt form is not provided then customer agrees to pay all applicable taxes.

5. All shipments are FOB Origin or Pre-paid and shipped to Dock. Any Special shipping requirements must be clearly stated on all PO's (i.e. inside delivery). If inside Delivery or Lift-gate is required it must be specified and additional fees will incur. Shipping charges that appear on this quote are an estimate, AMS.NET will invoice and the customer will pay the actual shipping charge when identified.

6. Upon delivery of equipment, customer agrees to open all shipments and visually inspect equipment for physical damages. All damages must be reported to AMS.NET within 24 hours of delivery.

7. Returns will be accepted at AMS.NET discretion and are subject to manufacturer returns policies as well. For returns to be approved all merchandise must be in an unopened box and the customer agrees to pay a restocking fee of 15% of the purchase price. Returns must be made within 15 Days of receipt. All shipments must have a valid RMA number from AMS.NET before returning. For RMA requests please contact our Customer Service Department at (800) 893-3660 Ext. 6111. Email RMA requests should be directed to <u>service@ams.net</u> A copy of AMS.NET's full RMA policy is available for review online at <u>www.ams.net/services/procurement-and-financing/</u> AMS.NET, Inc. 502 Commerce Way, Livermore, CA 94551 925-245-6100 + 925-245-6150 Fax www.ams.net

8. The laws of the State of California will apply to this sale.

9. The term "installation date" means the first business day on which installation of the system is complete. Minor omissions or variances in performance of the System that do not materially or adversely affect the operation of the system, shall not be deemed to have postponed the Installation Date. Seller shall use its best efforts to make timely delivery and installation. However, all stated delivery and installation dates are approximate and except as expressly provided in this agreement, Seller shall, under no circumstance, be deemed to be in default hereunder or be liable for consequential, incidental or special damages or commercial loss resulting from delays in delivery or installation.

10. Warranties. AMS warrants to Customer that it has good title to the equipment being sold to Customer under this Agreement, and the right to sell such equipment to Customer free of liens or encumbrances. AMS further warrants to Customer that the equipment being sold to Customer hereunder shall be free from defects in workmanship for a warranty period of thirty (30) days commencing on the later date the equipment is delivered to Customer or the date upon which AMS completes performance of the services to be performed under this agreement (this warranty being hereinafter referred to as an "Installation Warranty"). Except as expressly set forth in this paragraph, AMS does not make, and hereby disclaims, any and all representations or warranties, express or implied, with respect to the equipment or services being provided under this agreement, including but not limited to any implied warranties of merchantability, fitness for a particular purpose, satisfactory quality, against infringement, or arising from a course of dealing, usage or trade practice. AMS shall reasonably cooperate and assist Customer in enforcing any manufacturer warranties with respect to the equipment being sold to Customer under this Agreement. AMS hereby advises Customer, and Customer acknowledges that in the event Customer desires to procure from AMS any warranty protection beyond the warranty of title and the Installation Warranty provided under this Paragraph, Customer may do so by entering into a separate Service Agreement with AMS.

Manufacturer's warranty that is guaranteed is whatever is published by the manufacturer at the time of purchase.

AMS.NET Tax ID: 94-3291629

C7 License: 763508



AMS.NET, inc. 502 Commerce Way. Livermore, CA 94551 925-245-6100 • 925-245-6150 Fax www.ams.net

Please fax signed Quotation or Purchase Order to your AMS.NET account manager or to 925.245.6150. Full terms and conditions can be viewed on our website at www.ams.net/services/procurement-and-financing/

Authorized Signature:		Date:
Print Name:	Print Title:	

		Bill To		Ship To	Quotation #:		22180194
-	+	COUNTY OF EL DORADO 330 FAIR LN		COUNTY OF EL DORADO	Order #:		
P					Qualatian Qa	ite:	02/07/2048
ePI	us	PLACERVILLE CA 95667			Expiration Da	ite:	03/09/2018
Quot	ation	UNITED STATES ATTN DAVID RUSSELL		UNITED STATES	Client Refere	псе:	
QUOU					Account Rep:	:	Tom Hagan
Line No.	Quantity	Part Number	MFG	Description		Unit Price	Ext Price
01	2	C1-N9K-C9332PQ	CISCO	CISCO ONE NEXUS 9332 ACI LEAF SWITCH WITH 32P 40G QSFP		17,462.37	34,924,7
02	2	CON-SNT-NC9332PQ	CISCO	SNTC-8X5XNBD C1 NEXUS 9332 ACI LEAF SWCHW32P 40G QSFP		1,089.55	2,179.1
03	2	NXOS-70317.2	CISCO	NEXUS 9500, 9300, 3000 BASE NX-OS SOFTWARE REL 7.0(3)17(2)		0.0	0.0
004	2	N3K-C3054-ACC-KIT	cisco	NEXUS 3K/9K FIXED ACCESSORY KIT		0.0	0.0
05	4	N9K-PAC-650W	cisco	NEXUS 9300 650W AC PS PORT-SIDE INTAKE		0.0	0 0.0
06	в	NXA-FAN-30CFM-B	CISCO	NEXUS 2K/3K/9K SINGLE FAN. PORT SIDE INTAKE AIRFLOW		0.0	0.0
07	4	CAB-9K12A-NA	cisco	POWER CORD, 125VAC 13A NEMA 5-15 PLUG. NORTH AMERICA		0.0	0.0
08	2	C1F4PNEX9300K9	CISCO	CISCO ONE FOUNDATION PERPETUAL NEXUS 9332		11,974.20	23.948.4
09	2	CON-ECMU-C1F4PNEX	CISCO	SWSS UPGRADES CISCO ONE FOUNDATION PERPETUAL NEXUS	133	1,712.22	3.424.4
10	2	N93-LAN1K9	กเรดด	LAN ENTERPRISE IJCENSE FOR NEYLE SOM PLATFORM.		0.9	2 82
11	2	N93-SERVICES1K9	cisco	NEXUS 9300 NETWORK SERVICES (ITD, IP MEDIA FABRIC)		0.0	0.0
12	2	C1-N93-SERVICES1K9	CISCO	CISCO ONE NEXUS 9300 NETWORK SERVICES (INCLUDES ITD)		0.0	0.0
13	2	C1-ACI-N9K-32Q	CISCO	CISCO ONE ACI SW LICENSE 32 LEAF PORTS 40G NEXUS 9K SWIT	сн	0.0	0.0
14	2	C1-NDB-SWT-K9	CISCO	CISCO ONE TAP/SPAN AGG LIC FOR 1 CISCO NEXUS SWITCH		0.0	0.0
015	2	C1-DCL-N93-K9	cisco	CISCO ONE DONM FOR LAN ADVANCED EDT. FOR NEXUS 9300 SV	VITCHES	0.0	0.0

Page 1 of 3

				Page 2 of 3		
016	2	C1-PI-LFAS-N9K-K9	CISCO	CISCO ONE PI DEVICE LICENSE FOR LF & AS FOR NEXUS 9K	0.00	0.04
017	2	C1-N9K-NFM1K9	CISCO	CISCO ONE NEXUS FABRIC MANAGER LICENSE FOR N9K SWITCH	0.00	0.00
)18	2	C1F4VNEX9300-04	CISCO	TRACKER PID V04 FND PERPETUAL NEX9300 - NO DELIVERY	0.00	0.0
019	2	N9K-C9396TX	CISCO	NEXUS 9300 48P 1/10GBASE-T & ADDITIONAL UPLINK MODULE REQ.	14,702.69	29,405,3
020	2	CON-SNT-9396TX	CIECO	SNTC-8X5XNBD NEXUS 9300 WITH #8P 1710GBASE47 AND 1 UPLIN	953.81	7,907,6
021	2	N9K-C9300-ACK	CISCO	NEXUS 9K FIXED ACCESSORY KIT	0.00	0.00
022	2	N9K-C9300-RMK	CISCO	NEXUS 9K FIXED RACK MOUNT KIT	0,00	0.0
023	2	N9K-M6PQ-E	CISCO	ACI CAPABLE UPLINK MODULE FOR NEXUS 9300, 6P 40G QSFP	1,434.41	2,868.8
24	4	CAB-9K12A-NA	cisco	POWER CORD, 125VAC 13A NEMA 5-15 PLUG, NORTH AMERICA	0.00	0,0
025	4	N9K-PAC-650W	CISCO	NEXUS 9300 650W AC PS, PORT-SIDE INTAKE	0.00	0.0
026	6	N9K-C9300-FAN2	CISCO	NEXUS 9K FAN 2, PORT-SIDE INTAKE	0.00	0.0
027	4	QSFP-H40G-ACU10M	CISCO	40GBASE-CR4 ACTIVE COPPER CABLE, 10M	779,57	3,118.2
028	2	N93-LIC-PAK	CISCO	N9300 LICENSE PAK EXPANSION	0.00	0.0
029	2	NB3-LAN1K9	CISCO	LAN ENTERPRISE LICENSE FOR NEXUS 9300 PLATFORM	4,989.25	9,978,50
030	2	NXOS-70317.1	CISCO	NEXUS 9500, 9300, 3000 BASE NX-OS SOFTWARE REL 7.0(3)17(1)	0.60	0.0
031	6	QSFP-H40G-ACU10M≃	CISCO	40GBASE-CR4 ACTIVE COPPER CABLE, 10M	779.57	4,677.4
032	10	SFP-H10GB-CU3M=	cisco	10GBASE-CU SFP+ CABLE 3 METER	62.37	623.7
033	1	N9K-C9372PX-E	CISCO	NEXUS 9300 WITH 40P 10G SFP+ AND 6P 40G QSFP+	17,462.37	17,462.3
034	ſ	CON-SNIP-9372FXE	CISCO	SNFC-ZAX7XA NEXUS 8300 WATH ARP	1,574,77	1,574.2
035	1	N3K-C3064-ACC-KIT	CISCO	NEXUS 3K/9K FIXED ACCESSORY KIT	0.00	0,0
036	2	N9K-PAC-650W	CISCO	NEXUS 9300 650W AC PS, PORT-SIDE INTAKE	0.00	0.0
037	4	NXA-FAN-30CFM-B	CISCO	NEXUS 2K/3K/9K SINGLE FAN, PORT SIDE INTAKE AIRFLOW	0.00	0.0
038	2	QSFP-H40G-ACU10M	CISCO	40GBASE-CR4 ACTIVE COPPER CABLE, 10M	779.57	1,559,1
039	2	CAB-9K12A-NA	CISCO	POWER CORD, 125VAC 13A NEMA 5-15 PLUG, NORTH AMERICA	0.00	0.0
040	6	GLC-SX-MMD	CISCO	1000BASE-SX SFP TRANSCEIVER MODULE, MMF, 850NM, DOM	311.83	1,870.9
041	1	NXOS-70317.2	CISCO	NEXUS 9500, 9300, 3000 BASE NX-OS SOFTWARE REL 7.0(3)17(2)	0.00	0.0

#### Page 3 of 3

042	1	N93-LIC-PAK	CISCO	19300 LICENSE PAK EXPANSION	0.00	0.00
943	1	N93-LAN1K9	CISCO	AN ENTERPRISE LICENSE FOR NEXUS 9300 PLATFORM	4,989,25	4,989,25
etween yo	aspx (the 'Order ou and ePlus, an of any terms ar	Terms"). Unless there is a separate d no additional or contrary terms ref id conditions set forth therein. sy leasing options for your IT equipt	written agreement signed on behalf of bo erenced in a purchase order, document, o nent. Use leasing to increase your IT acqu 984-6021 or leasi	ns for Purchasing Products and Services located at http://www.eplus.com/erms th you and ePlus by a duly exhanced officer, the Order Terms shall be the only relectronic communication shall apply. In no event shall ePlus performance und isilion capability, overcome limited budgets, and manage the lifecycle of your an g@eplus.com lo receive a lease quote today.	terms and conditions applicable to the fer a purchase order be deemed to consistent of the ssets. Contact an ePlus Leasing Coord	dinator at 1-703-
				The second secon		the set for a set
Sales Tax,	it will be added	Please note the following about this to the invoice. Extended Warranties	quotation: It will expire on the date stated and Professional Services are available.	above, Unless freight amount is indicated, or is zero, freight will be added to the	a invoice. Unless Bill-To company is e	vempt fram
Sales Tax, Customer Signature	it will be added r Acceptance	to the invoice. Extended Warranties	and Professional Services are available. Date:	above, Unless freight amount is indicated, or is zero, freight will be added to the To Place An Order , Please Contact: ePlus Technology Inc Sales: Anita Howe	Sub Total (USD):	144,512,99 D if Applicable
iales Tax, Customer Signature Name Title	it will be added r Acceptance e:	to the Invoice. Extended Warranties	and Professional Services are available Date: PO #:	To Place An Order , Please Contact: ePlus Technology Inc	Sub Total (USD):	144,512.99